R

|—:| D hER

)] 5 =

BB AGE

*XHEAR 4H5E5A2H

xwm [ Twm ]

#F & B * A &

B LIRS ERH

BHMc L AEHOBEOEHETE

- S ARORE ( 7800 ). .. A
- EH0E ( 90% ). .. B
BERAEEOXHA

A x B = I 7,020

«ﬁmg%mﬁmzﬁmﬁﬁﬁ»

_ ¥ i - -
glnutllllﬁt u PR 4R Ei.

D T ,,LL

i .u EREN)
VLT

IR N " /“{'." ; —
:‘{ } j'_T’ ]

; ,E"){“,,,L;‘\) NS

. e ‘ - PR L. |
IR | |
i |
— - - 7 - T - E———
| TR T
| SR T O O O
RO ‘
[ v T 249-0008 ‘I'“ !
i . Q' 11. I
T LS MRIRETFHEFITRE -7 M - #—\\\ ;
- S ‘H ) |
{EEEH iji\' # (/ 1‘ i
L MBS n| vnﬁdf

M- TR 17 1) R

RN

i 5.5, 2




KIRER

- )
B ; & r =
BEX 5 AGE
HHEAH 4#15458118
* W @ ]
& B U A B
BHSEBRHEIME Bk 5%
B9 X BHHOBAORHFER
-othkoE®E (0 70847TH) . . . A
RS DER ( 9% ) ... B
BERAEEOX HA
A X B = 63,7628
< FINBFOIHNER ORISR >
ZEEHUNEITLFTT.
EWSIABF CEROIA, EFERUESL
g AERAY CHAFAB ;!'lﬂ!n
L= i E
e o s ofc ok o o ofc ofe ofe dje ok v 2 ok
HE AL V% VA2
W E M gELZ. ﬂ
4 B4y FHSERMERREHA  A/1~4/9 GEHHIR) BR<
J00. 4202300907
00w - (3 w%?‘-?a >/ 7
70, 29 745hp P 8T




AIREHR
s I~ =5
REXS A2
*WEAR Af5E5813H
= w g [ awesm ]
B 2 E O R & -
BEZHRDEE o8 5o
B ksEHoESoRHER
- 2ORE (455060 ) . . . A
S DOE ( 9% ). .. B
BOSHER O3
A x B = 40,9551
M I F

I

EREEFIERVALE LE
moR
e
HRREE( %)

J a3 o478

i £ W
4 A% 4/1~4/9 GEHHR) B <
SLocot 30 0744

85 opo- (2 r6ax 97 (/-f&'_fg)j.

No.

2023% & Hy 7 8

L b Sovo—




EiAIT

hrhhhER%

B F 8B E X WM O =

HERNESE( %)

‘0‘?’5 % ﬁﬁ 1’7’7-78
LB T HAA

FBisaZiFei s8R ey

BREXa A&
FHFAHA b ESR1TH
¥ @ B 177,708
R
BISZEMBEE BEL Ew
BN AETHOBEORHETRE
2R ORE ( 197,454 ) . . . A
S mE ( 90% ). .. B
HWERAEEOTHE
A x B = 177,708
2 W R
No.
2 T\ A i
SN 2039 55 w7
* 4.7 454 —
-t ' 4: . —
B 485 F N NA
ERECENVE LT LR
I
BikSH




Y AGR

512 PNV I o % B 3
? E y oy =
HFEBXS AHE
*HEAHR SHI545A25H
= wom| [ soasm |
F & B 0 A B
BESHDRE BEl. BS
BEHIck 2T HOBEOTEHER
S EDORE ( 56,006 ) . .. A
oK ( 90% ). .. B
BEAEBOI A
A X B = 50,4051
<FEWNBZF o REBORMSM>

(i) IR
BECHBOCREELTHUNESTELET,

> EHMS IPEESEADIIEL,
BERSIAE HE |omsAE | JHREAE

piEs | P2l4141]05-05-

=] [2] DR[0T R 5| 1H B i
SR L I 2 T E T
4986]14:52 ¥80000
ERETE-F|5 oY ERATE

(000089
zl¥avyer{ayT aya %
S EFE 0427058490
I Ic
484 A4/1~4/95 13k < EEOCRAECECREL, £01-0420

Sp.000 % 30: 3. bbb
Qbbb F 23 PPy

Sooer- 24 PFy c £6.006 -




kB

rhhERE

BMOf O E OB B X W E F

BEXS ANEGE
XHEBB SHI5ESA 268
* H %8 | 86,4000
B & & " A &
BUSEHmmE e, &=

maic s ATHOBAOTEHEE

- SERORE ( 108,000M) . . . A

RSO ( 80% ) ... B

WIERAEE O
A x B = 86,4000

ciaga g0




kB

hiEbihRE

B F & 8 & X H 5 F

BREXS AHE
FHEAR 415458268
x W
B & B U N B
W SEEpEE SEFY

Bc L AR HOBEOTEER

c2EORE ( . 9,840 ) . . . A

RS OE ( 80%)... B

IS RAEEOX A
A x B = 7.872M

| e

i R e '
SN wmmws %)

RETERTaT |
T

Er

wEE4 - 5By




B

,rs

B

BEXS

XHFEAH
-

BISESHHMEE fE. B

# & B U A ﬁl

+fi545 A 30H

79,200M

WL AXHOBESOREEFA

- AADRE (
RS OR (

99,000 ) . . . A
80% ). .. B

BASREE DS

= 79,200F]

w W s

W oER
3 o&
AF /

F % /

HABEE( %)

a3 Uir-e8

7T th ﬂtgf\'
@7 ovo -

By IRy

2023 &2 L/(L A j/j H rfFICERwAZLELE '.E

® % W |
I-5A%

)~ q1TPRY




=BT

AP oF 13

B % F B B X M FE =

HEXS NS¢
HHEAR AM54£5830H
£ % B U A §|
IS EEEBNRE £EFY
Byl daXHoBEoREER
- PHEORE { 48401 ) . . . A
RSO ( 80%)... B
BISRAEEOX L
A x B = 3,872M
A =
$H U § . .
ﬂﬁ}rﬂ\‘h %’ % R No
A S T
MR . . R
s B4 5)1A%I&Lffﬁf&,{7 e |
v T a0} R0 B ERERSRCELELL | |
F B /
HRBESE( %)
373 08
g & W

EE4 - 5 BH
2/ g PR




aRAH

i hthHAR%

g B

HERREC K

HEREE( %)

gREs

1
i
|
i
]
I
|
1
|
1
)

88Xy AHE
| xwenn 4H1545 4310
# & B U A EI
BECEEFEBIE KK &=
Eolc k AHHOBEOEEHER
- eRORE ( 52,000 ) ... A
RS OR ( 90%)... B
- BEFEEBROZHE
A x B = i 46,800
<HREFOREROKGM>
Mo R op b F R -
' Y R f";..j*
T UL I b7 K S P 2 L?f-(?” 0 eI LR NI
1
A wAgv o8 G5 R 348% r};}%ﬁ J—jg[; éf) /a)
3 oA .
S F V4 / pae 7#‘ L, A2 /El .J:.'Eaéi *Eqi“fn. ‘
+ i

GRYGE21

TN

5/19 - 24 - 25 - 26 « 314>




FiRETF

3 - =
REXS AGE
ZWEAB SH5ELR31H
# & B U A B
BEESHEEE HBr B
BHICL T HoBEoRHER
2R ORE (  108000M) ... A
IEHDE ( 80%)... B
BHRE g0 HE
A x B - 86,400/
WO F AU 7,_
17 T4 ?7\/}/) T [~ R Now o
* T A 0
SO a &
;Z W AN T Fvery
o T 202p% SAF/ B ERECEMeELELE |
- V

HEBEEC %)

ay3a -9

® = W
4 « 5 A%




BB

B % EF 8 B x H O R

BEXS AGE

XHERH +HIb4E5831H

£ & R U A A
HELDEINE #EFY

BEHCLAETHOBAORHEE

2 EORE ( 5280M ) . . . A

C S O=E ( 80%)... B
BEREEOIHE

A X B = 4,224M)

MR
R &
AP
F

EREEE( %)

a%3 G498

N
<EZ4 - 5AR




